Представьте числа в виде логарифма с разными основаниями
                 2 =                                           3 = 
                 2 =                                            3 =                           
                 2 =                                            3 = 
                 2 =                                            3 = 
                  2 =                                           3 =   .
4 =  =  =  = ;
Заполнить пропуски:  
1.  =  , так как  = 16.
1.  =  , так как  = .
1.  =  , так как  = 1.
1.  =  , так как  = 25.
1.  = 4 , так как  = 16.
1.  =  , так как  =.
1.  =  , так как  = .
1.  =  .
1.    =  8.
1. [bookmark: _GoBack] 4.
1.   =   т.к.  


